Kéznél a segitség/

%)

Aaf dm
m

1 em = 10 mm

e 1cl=10ml

1m =10dm cl= m
ldkg=10g 1km = 1000 m 1di=10¢l
1 kE =100 dlf.g 1 dm = 100 mm

1m =100cm 11 =104l

1000 kg 1m = 1000 mm

1hl=1001

km = m > dm > ¢m > mm
Hosszdsag mérése
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Kéznél a segitség/

1

sif dm
m

1 e = 10 mm

el 1cl=10ml

1m =10dm cl= m
ldkg=10¢g 1km = 1000 m 1di=10¢l
1kg = 100 dkg 1 drn = 100 mm

1m =100cm 11 =10dl

1000 Ir.g 1m = 1000 mm

1hl=1001

km = m = dm > ¢m = mm
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Kéznél a segitség/

A9f dm

m
1 em = 10 mm
Sl s 1cl=10ml
1m =10dm cl=10m
ldkg=10¢g 1km = 1000 m 1di=10¢l
1 kﬂ' = 100 dll:g 1 dm = 100 mm
1m = 100cm 11 =10dl
1000 kg 1m = 1000 mm

1hl=1001

Em = m = dm = &m = mm
Hosszlsdg mérése
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